i) Secret Message Coordinates

( I can plot coordinates in all four quadrants.

Discover the two secret code words by plotting the coordinates and joining with
straight lines.

Secret Code Word 1: y-axis
0 9 B8 7 % 5 & B3 2 9 ¢ 1 2 3 4 5 6 7 8 9 10°%is
(-9,2) (-8,-2) (-7,2) i
( 6: ) ('412) ('512) ('51'2) ('61'2) ('4"2)
(-1,2) (-3,2) (-3,-2) (-1,-2) (-1,2)
(1,2) (1,-2) (3,-2)
(6,2) (4,2) (4,0) (6,0) (4,0) (4,-2) (6,-2)
(7,2) (9,2) (8,2) (8,-2)
Secret Code Word 2: y-axis
0 9 B 7 6 5 % 8 2 1 V1 2 3 4 5 6 7 8 9 0¥
(-9,-2) (-9,2) (-8,-1) (-7,2) (7,-2) il
(-4,2) (-6,2) (-6,-2) (-4,-2) (-4,2)
(-3,-2) (-3,2) (-1,-2) (-1,2)
( ) ) (11 2) (1,0) (312) (1,0) (31'2)
(612) ( ’ ) (410) (6'0) (410) (41_2) (6"2)
(712) ( ) ) (912) (8'0) (81'2)
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g Secret Message Coordinates

( I can plot coordinates in all four quadrants.

Discover the two secret code words by plotting the coordinates and joining with

straight lines.

Secret Code Word 1: y-axis
10 9 B8 7 6 5 & 3 2 4 7 1 2 3 4 5 6 10°° IS
(-7,2) (-9,2) (-9,-2) (-7,-2) (-7,2) i
(-6,-2) (-6,2) (-4,2) (-4,0) (-6,0) (-5,0) (-4,-2)
(-3,-2) (-3,0) (-2,2) (-1,0) (-3,0) (-1,0) (-1,-2)
(1,-2) (1,2) (3,-2) (3,2)
(6,2) (4,1) (4,-1) (6,-2) (6,0) (5,0)
(9,2) (7,2) (7,0) (9,0) (7,0) (7,-2) (9,-2)
Secret Code Word 2: y-axis
3
10 9 8 7 b 5 & 3 2 4 7 1 2 3 4 5 6 10 x-axis
2

(-10,-2) (-10,2) (-8,2) (-8,0) (-10,0)

(-5,2) (-7,2) (-7,0) (-5,0) (-7,0) (-7,-2) (-5,-2)
(-4,-2) (-4,2) (-2,-2) (-2,2)

(1,2) (-1,1) (-1,-1) (1,-2) (1,0) (0,0)

(2,2) (2,-2) (4,-2) (4,2)

(7,2) (5,2) (6,2) (6,-2) (5,-2) (7,-2)

(8, 2)48 2) (10,-2) (10,2)
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4 Secret Message Coordinates

( I can plot coordinates in all four quadrants.

Discover the two secret code words by plotting the coordinates and joining with
straight lines.

Secret Code Word 1: y-axis
3
10 9 8 7 6 5 % 3 2 14 ] 1 2 3 4 5 6 7 8 9 10005
1
2
e ]

(-5,2) (-6.5,1) (-6.5,-1) (-5,-2) (-5,0) (-5.5,0)
(-4,-2) (-4,2) (-2,2) (-2,0) (-4,0) (-3.5,0) (-2,-2)
(0.5,2) (-1,2) (-1,0) (0.5,0) (-1,0) (-1,-2) (0.5,-2)
(3.5,2) (2,2) (2,0) (3.5,0) (2,0) (2,-2) (3.5,-2)
(5,-2) (5,2) (6.5,-2) (6.5,2)

Secret Code Word 2: y-axis
0 9 B8 7 b 5 % B8 2 4 P 1 2 3 4 5 & 7 8 9§ 10V
2
(-6.5,2) (-6.5,-2) (-6.5,0) (-5.5,0) (-5.5,2) (-5.5,-2)
(-3.5,2) (-2.5,2) (-3,2) (-3,-2) (-3.5,-2) (-2.5,-2)
(-1,-2) (-1,2) (0.5,2) (0.5,0) (-1,0)
(2,-2) (2,2) (3.5,2) (3.5,0) (2,0)
(5,-2) (5,2) (6.5,2) (6.5,-2) (5,-2)
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ol Secret Message Coordinates Answers

Discover the two secret code words by plotting the coordinates and joining with

straight lines.

Secret Code Word 1: y-axis

N W

\

-t

\ |/ I

Secret Code Word 2: y-axis

10 -9\-8/-7 6 5 4 B 2 4 1 2 I 8 9 10
(-9,2) (-8,-2) (-7,2)
(-6,2) (-4,2) (-5,2) (-5,-2) (-6,-2) (-4,-2)
(-1,2) (-3,2) (-3,-2) (-1,-2) (-1,2)
(1,2) (1,-2) (3,-2)
(6,2) (4,2) (4,0) (6,0) (4,0) (&,-2) (6,-2)
(7.2) (9,2) (8,2) (8,-2)

N W

10 0 b 5 4 8 E 1 )
(-9,-2) (-9,2) (-8,-1) (-7,2) (7,-2) )l

(-6,2) (-6,2) (-6,-2) (-4,-2) (-4,2)

(-3,-2) (-3,2) (-1,-2) (-1,2)

(1,2) (1,- )(1 0) (3,2) (1,0) (3,-2)

(6,2) (4,2) (4,0) (6,0) (4,0) (4,-2) (6,-2)

(7,2) (8,0) (9,2) (8,0) (8,-2)

X-axis

X-axis
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g Secret Message Coordinates Answers

Discover the two secret code words by plotting the coordinates and joining with
straight lines.

Secret Code Word 1: y-axis

/N

N W

-t

0 X-0XLis
MM 9 8 ¥ 6 -/ 4 B 2 - 1 2 3 5 T 8 9 10
(-7,2) (-9,2) (-9,-2) (-7,-2) (-7,2) )
(-6,-2) (-6,2) (-4,2) (-4,0) (-6,0) (-5,0) (-4,-2)
(-3,-2) (-3,0) (-2,2) (-1,0) (-3,0) (-1,0) (-1,-2)
(1,-2) (1,2) (3,-2) (3,2)
(6,2) (4,1) (4,-1) (6,-2) (6,0) (5,0)
(9,2) (7,2) (7,0) (9,0) (7,0) (7,-2) (9,-2)
Secret Code Word 2: y-axis
o X-axis
m 92 8 ¥ -6 -5 - B R 1 2 3 4 5 6 7 8 9N\ 10
2

(-10,-2) (-10,2) (-8,2) (-8,0) (-10,0)

(-5,2) (-7,2) (-7,0) (-5,0) (-7,0) (-7,-2) (-5,-2)
(-4,-2) (-4,2) (-2,-2) (-2,2)

(1,2) (-1,1) (-1,-1) (1,-2) (1,0) (0,0)

(2,2) (2,-2) (4,-2) (4,2)

(7,2) (5,2) (6,2) (6,-2) (5,-2) (7,-2)

(8,-2) (8,2) (10,-2) (10,2)

»
* * *
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Secret Message Coordinates Answers

Discover the two secret code words by plotting the coordinates and joining with
straight lines.

Secret Code Word 1: y-axis

-

o)

-
9

10 -9 -8 7| -6 b \3 2 1 4 3 4 § \{6\ 7 8 9 10
N\ 1
4 \
2

(-5,2) (-6.5,1) (-6.5,-1) (-5,-2) (-5,0) (-5.5,0)
(-4,-2) (-4,2) (-2,2) (-2,0) (-4,0) (-3.5,0) (-2,-2)
(0.5,2) (-1,2) (-1,0) (0.5,0) (-1,0) (-1,-2) (0.5,-2)
(3.5,2) (2,2) (2,0) (3.5,0) (2,0) (2,-2) (3.5,-2)
(5,-2) (5,2) (6.5,-2) (6.5,2)

Secret Code Word 2: y-axis

3

2

1

X-axis

M7 9 8 7|1-6|H &4 B8 2 A1 1 2 3 4 % 6|7 8 9 10

1

2

3

(-6.5,2) (-6.5,-2) (-6.5,0) (-5.5,0) (-5.5,2) (-5.5,-2)
(-3.5,2) (-2.5,2) (-3,2) (-3,-2) (-3.5,-2) (-2.5,-2)
(-1,-2) (-1,2) (0.5,2) (0.5,0) (-1,0)

(2,-2) (2,2) (3.5,2) (3.5,0) (2,0)

(5,-2) (5,2) (6.5,2) (6.5,-2) (5,-2)
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